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ﬁ Prime Numbers
Worksheet 3

Fill in the missing numbers to complete the working of
Prime Factorization.

Example:
2| 32 72 2 | 120
2 16
2 60
2 8 18 2
y) 4
3 | 15
2 2 3 3
1 1 I
2w a2 B2 2 By B . S 2.,2,2.3
= 32 = 7N = 120 T
252
z 168 2 420
p) 84 2
3 63 2 3 105
3 3 -
i 7 7 7 7
1 1 1
2 BP0y G227 2 2.8 7
= 252 = 168 =40 .
2 210
378 2310
3 189 3
25
3 s 385
5 21
1
7 11 il
1 1
_2_*3_*—*5—‘ - L*i*3_*_*i L*i*i*_*ll
= 210 . = 378 = 2310 | o
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Answer Sheet

=
>
>
>
>
>
>
>
>
E
t 2 ii 2 | 72 2 | 120
t 2 2 | 36 2 | 60
t 2 8 2 | 18 2 | 30
t : . 3 9 3| 15
2 2 3 3 5 5
> 1 1 1
t Fd 2 2 2 Do ¥ 88 2.,2,2.3.5
t =32 = m = 120
252
t 2 2 168 2 420
t 2 | 1§ 2 84 2 | 210
t 3 | 6 2 42 3 105
21
t 3 3 21 5 35
7
t ¢ 7 7 7 7
3 : ‘ !
t 2,2.8,3,7 2 .82 B % 2 B .8 . 8.7
t =252 = 168 a0 .,
t 2 210
t 2 | 378 2 | 2310
t : 105 3 | 189 3 | 1155
t 5 2: 3 | & 3 385
1 3 21 ~ 77
t 7| 7 1 11
> ! 1
< 2.3.5 .5 B8 .8 8.7 M LR
t = 210 = 378 , = 2310 T

“Please log in to www.letsshareknowledge.com for more worksheets"

AAAAAAAAAAAAAAAAAAAAAAAMAAMAAMAAMAAMAAMAALMAAMAAMAAMAMAAMAAMAMAMAAMAAMAAMAAAAAAALAALAALAAAAAAAAL




